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Fauls:1) it (S,p) (p =5)
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Claim:P: i, (X,xxe,(PrsPe)) -> ii(X,pi) xi/Xe,P2)

defined by P([f])= ([Prof], [P, of])
is a group isomorphism, =(4,x[f],P2,[f3)



ThatA is a homomorphism is easy,

To see that is sorjective let [filti, (X,p,L

[fe]t4,(X2, pr).

Consider f =fixfe: (f(s)=(f,(s), falsi))

Thu P(Cf]) =([P,of], [P:f3)
= ([f], [fn]).

To see that P is injective, suppose

P([f]) =id,



Reall P(CT) =([P,05], [Prof])
and have [B,of]=[<p]

[Peof] =[<p]

LetH, be aromatary tramP,of toup,

and simulaly for He,

Define H(s,t) =(H,(s,t), Hels,th).

They H(s,0) =(H,(s, 0), He(s,0))
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